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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. SR Gaugd 3 U9 U3 TR A 37 Aad: e |

Candidate must write first his / her Roll No. on the question

paper compulsorily.

2. | YT HET AR ¢

All the questions are compulsory.

3. TcH TR 1 I &l TE SW-YRTeHT | & oG |

Write the answer to each question in the given answer-book only.

4, 9 U H A I TUS €, 37 G & IR UH Y & A |

For questions having more than one part, the answers to those

parts are to be written together in continuity.

5. UT A % &Rl SUST TURR B HA UHR H I / SRR/ SRENT
BH TR &Y AT 3 U i HE T |
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If there is any error / difference / contradiction in Hindi &

English versions of the question paper, the question of Hindi

version should be treated valid.

6. ug

A 1-13
E) 14-22
| 25-27
k3 28-30

Section Q. Nos.
A 1-13
B 14-22
C 25-27
D 28-30

9T &1 AFFH UAH AT

W N =

4

Marks per
question

1
2
3
4

I AT I |

20 s
60 s
100 RMs5
250 RMs5

Word limit
of answer

20 words
60 words
100 words
250 words

7. U hHh 23 3N 24 A TH 1 ¥ G 4T € 3R TS 2 37 o T

Question Nos. 23 and 24 are related to map-work carrying

2 marks each.

8. oY 9 9RA % YIS FIY U I@T HH =1 il IR YRR & a1y et

|

Attach outline maps of World and India with the answer-book.

9. YUY SHHTH 29 3R 30 H AATHF THcT &

There are internal choices in Question Nos. 29 and 30.

qug - A

Section - A

1. TSI et o i & SU-EF & A9 AGU|

Write any two sub-fields of Social Geography.
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10.

11.

3
T Hlo WUST o ST{AR TG JIieT hl T IHT S i T |

Define Human Geography according to Ellen C. Semple.
T ST e 1 99 A @ |

Write the formula to calculate sex-ratio.

T T i STTUROT T T TUGT HHA HaAT &7 ?
Who proposed the concept of Human Development ?

IS TUEUT a9 T &F & H HAT ST § 2

In which two areas of the world is food gathering practised ?

T3] SMETYA el &1 &AM & A AT

Write the names of any two industries based on animals.

"SHEEAT B U8 W1 T YT ST 6 ST |

Define the term ‘population density’.

IO § TRIF YaE o HIE & 51 hehig TI0MH o GU |

Write any two demographic consequences of rural-urban migration.

TS St A & H 9§ gl & 2
In which areas are dispersed settlement developed ?

31T Tk TRI & hIg qT ITTE0T &1 7T |

Give any two examples of industrial towns.

A IR T & hIE qF 323 A GU |

Write any two objectives of watershed management.
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12.

13.

14.

15.

16.

17.

18.

19.

4

TrTS-qol 3f1eN ek Yo % Ik o U STREME! g &1 HRUT o T |

Write any two causes responsible for the development of Mumbai-Pune

industrial region. LN 1
2 2

ST Y07 % ohig &F HRUT of QU |

. . 1 1
Write any two causes of water pollution. 2 + > =1

g - d
Section - B

Y | UHIOT Ue TR STHEEAT GEe &1 g1 i 5 |
Describe the rural-urban composition of population in the world. 2
W HF Ud Faldeh HATHA H <R hi 54 |
Distinguish between primary and secondary activities. 2

T IR g ¥ AR I TZ A FAT & al, HG TSI ST 7 61 9
HT AR 7 2

If you want to travel by sea route from Mumbai to New York, which sea

route would you select and why ? 1+1=2
ST SR i & 74T T FUH i 5T |
Describe the demerits of international trade. 2

Ted Sl Te Yehiv] Sl & HeF & 3R A QU |
Write any two differences between compact and dispersed settlements.

1+1=2
‘v TR’ I BT AL TS | THHT TN FANSH HE FHAT ?

Define the word ‘megalopolis’. Who first used this term ? 1+1=2
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20.

21.

22.

23.

5

AHE IRt & HIOF &q 3T T gaehi T STAN H4T 2

Which indicators would you like to use to measure the human

development ? 2
T 1 GH I I
TR & TFR TR
(i) TRTHTH TR TATE
(i) 3T TR TR Gl
(iii) ¥ &7 TR AT
(iv) TdeT TR Egh!

Match the following :

Type of City/Town City/Town

(i) Administrative town Bhilai

(i) Industrial town Chandigarh

(iiij Educational town Shimla

(iv) Tourist town Roorki
behedetes

FTRTLR SR | g T &6 i 9 TRl T TUH 1 T4 |

Describe the role of air transport in International Trade. 2

T T IS % @ W H Forerdl GSERT 3 &3 i 3 S S|

In the given outline map of the world mark the areas of nomadic

herding. 2
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24, T I T 9RA % 3@ AH S § THE U9l 1 J0ET

(i) higem (ii) Pifea (iii) <= (iv) URTET |
In the given outline map of India mark the following major ports :
(i) Kandla (i) Kochchi (iii) Chennai (iv) Paradwip.
L I T 2
2 2 2 2
ug - |9
Section - C

25. ¥oTd T T TSR o AR W YRAET YT o diF St ol gu ot ST |

Describe the three categories of Indian railway on the basis of width of

railway track. 1+1+1=3

26. XA % USAIT &1 % TR &q g W I I 9|

Give any four suggestions to develop the hill areas of India.

3 3 3 3
Z+EZ2+Z2+=2Z=3
4 4 4 4

27. YR H TSl 9Tl I THET & THM & Hig TR 39 Fq0 |

Suggest any four remedies to solve the problem of slums in India.

§+§+§+§=3
4

4 4 4
qug - T

Section - D

28. Y9 % Hel IR UNHEEEIUE STH Sl U ohi 5T |

Describe any four Trans-Continental Railways of the world.
1+1+1+1=4
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29.

30.

7

Fed HTel I 37T T S 3l ST i ST |
3
FaTE F T I IIHT F TR TRAN TS 996 6 TS &1 T JUH i S|
Classify the industries based on raw materials. 4
OR

Classify the subsistence agriculture and describe its characteristics

and main areas in the world. 2+2=4

IRA H -3 & A GO B JF §E & 2 I§ & HRUN bl o= &l 574 |

SREH

TR H T ST bl TR T, SAGh ToF Ue GHETSA T I¥AT0T bl 9T |

Which categories of land use have increased in India ? Discuss the

causes of increase. 1+3=4
OR

Analyse the location, producing states and the problems of sugar

industry in India. 1+ 1% + 1% =4
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